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4 = 0.011(18) x = 0.983(74) => 0.983(74)
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Continuum Lightcurve

rm014

o

—r——— 77—
-]
e
2

ol T+

~ O =

1

o Lo

T 0

a F ]

o

|

£

° I3

[ =R T R R Fo o

7] <

[nd

[

o | ]

=

Z

“_K

9808 ) 12738 16538 21488

27908

_|1Iool Ll

7000 7500 8000 8500
MJD — 2450000

BLR Lightcurve

9000

—T 7T T T T 7T T T —TT
oLv u
—

- L 4

=

o L 4
w -
(o0 Pl Bl el A ol Sl Bl Rl s S P el

MJD — 2450000

Corrections

1 —
N
-
-
-
.
A T T S | L

0.9
~
Q
o
o

7500 8000 8500
MJD — 2450000

w = —0.007(130) x = 0.947(24) => 0.947(25)
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